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26.2 21 1 —D 9.7
6.7 6.8 ) 56.6
363 38 3 (2) 100%-66.9%( TMR
30 3.4 @ {@x @+ 100} (1)x 100
0.7 0.8
1.1 1.5
3
73.0 68..6 TMR TMR
14.4 15.4 49 49
16.4 17.7 (ka) 2 2
36.9  38.7 (D 30 30
34.8  33.6 () 18 15
67.1 67.9 (k) 0.5 0.3
65.8 71.4 24
66.9 72.8
71.9 72.1
52.9  61.1 4
58.0 64.4
82.3 91.6 TMR TMR
3 3
(ka) 687.6 698.5 ns
(kg/ ) 26.7 26.6 ns
( W 95.6 105.7  *
() 106.1 112.9 ns
(kg) 36.1 37.5 ns
4% (kg) 34.5 36.3 *
(
3.77 3.87 ns
2.84 2.90 ns
8.14 8.23 *
(ka7 )
1.34 1.42 *
1.02 1.08 *
2.93 3.07 *
( )? 106 102 ns
( ) 61.2 65.0 ns
D * p<0.05
26 30 ( )



